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FrES FrigReE=s 3 A0T7.4 38( 67.9) 7( 100.0) 17(73.9)
=l 18( 28. 6) 18(32.1) 0(0.0) 6(26.1)
B0IGE AST/ALTER 19 19 0 6
-fEIR (RERRR D) HE 3 3 0 0
R B #iE 0 0 0 0
&K 0 0 0 0
fbisE 0 0 0 0
Z Dl 1 1 0 0
FrER E 60( 95.2) 53( 94.6) 7(100.0) 23( 100.0)
=l 3(4.8 3(5.4 0(0.0 0(0.0
BDHE ER 0 0 0 0
—-ER (REERIRE) RERART 3 3 0 0
A 1 1 0 0
FFREZE 0 0 0 0
Z Dt 0 0 0 0
BES BRREER " 46( 73.0) 40( 71.4) 6(85.7) 20( 87.0)
-1 17(21.0) 16 ( 28. 6) 1(14.3) 3(13.0)
BDGE BEELTL 10 9 1 2
-RRATR (BECERED MR 6 6 0 1
BUINTR 3 3 0 1
FR4E 0 0 0 0
BDGE RS 4 4 0 0
-BEE (EEUERE) |REHE 3 3 0 0
BAKRIL 0 0 0 0
B 1 1 0 0
B 0 0 0 0
Z DAt 3 2 1 1




TRIGID1207

3.8 BHfE
BT RER: /MR
. 2 e ERERE | EEBREEE| y0—2%K
EE ATdl - (n=49) (n=26) (n=19) (n=5)
e e | ot eis | h dei | 2h g
-3 HiE = - S EE - ket S -LEE
FRIL—F [ATF—TILEBRE 110 22.4) 7( 26.9) 3(15.8) 1( 20.0)
71 38( 77.6) 19( 73.1) 16( 84.2) 4(80.0)
EnGE-RH % e BB 29 18 9 4
EHE 1.9 1.6 2.8 0.9
EERE 2.1 1.4 3.1 0.8
&/ME 0.1 0.3 0.1 0.3
th L E 1.0 1.0 2.0 0.7
BXE 10.0 4.0 10.0 2.0
RIS 9 1 Ji 0
HhF—TIMERE o 34( 69.4) 20( 76.9) 11(57.9) 3( 60.0)
Gzl 15( 30.6) 6(23.1) 8(42.1) 2( 40.0)
BHDIHE A RTERER 5 2 2 1
-FAZEMEISRE (HFH) |[EREEFHIK 7 2 4 1
FE B T AR 9 3 5 2
EHEETER 8 3 4 1
ARBEEE IR 3 1 2 1
£ RERESAR 2 0 2 0
BREAT—TILMERE e 49 26 19 5
(EDIGE1L6) SE{E 5.3 5.6 5.0 4.8
EERE 1.4 1.1 1.6 2.2
=/ME 1.0 1.0 2.0 1.0
==F: 3 6.0 6.0 6.0 6.0
=AE 6.0 6.0 6.0 6.0
R B 0 0 0 0
FESE e EE i3 25( 51.0) 13( 50.0) 10( 52.6) 3( 60.0)
izl 24( 49.0) 13( 50.0) 9( 47.4) 2(40.0)
BEDEE AST/ALTER 23 13 8 2
—fEIR (BEHUEIRE) #E 3 1 2 0
BE BRRE 1 0 1 0
KK 2 1 1 0
B RE 0 0 0 0
Z Dt 0 0 0 0
FER 3 41(83.7) | 23(88.5) 14( 73.7) 5( 100.0)
Gzl 8( 16.3) 3( 11.5) 5(26.3) 0(0.0)
BEDEE s 0 0 0 0
—fEIR (FEHUEIRT]) EERARF 7 2 5 0
e 5 2 3 0
FFEZE 1 1 0 0
ZFDith . 0 0 0 0
BFEE BHEER = 39( 79.6) 22( 84.6) 14(73.7) 5( 100.0)
5 10( 20. 4) 4( 15.4) 5( 26.3) 0(0.0)
BOEE A 3 2 1 0
-RETR (FEHGERA) |[MkR 4 1 2 0
B ING R 6 1 4 0
R 0 0 0 0
BEDEE Bre 1 1 0 0
-FEE (EHERT) |[REBHEE 1 1 0 0
BRIt 1 1 0 0
] 0 0 0 0
BHT R 1 0 1 0
Z D4 5 1 3 0




TRIGID1207

3.8 &BHE
R RER: LR
‘ 2R BIAERE EIHERE| /00—
EE hTd Y - (n=231) (n=106) (n=117) (n=0)
S S eite | 7 baE | 27 HE | 7
- |EHKE % ey g A rS; g ,%. :‘il g §
hRBIL— bk | AT —TILRERE 3 67( 29.0) 40037.7) 23( 19.7) -
=] 160( 69.3) 64 ( 60.4) 92( 78.6) -
R8I 4C1. 1) 2(1.9 2(1.7 -
ADZE-EE & 9iE {51 52 130 52 76 -
EHME 2.3 2.5 2.1 -
BRERE 1.9 2.1 1.7 -
=&/ME 0.1 0.1 0.3 -
B 2.0 2.0 2.0 -
RAIE 10.0 10.0 8.0 -
RN 30 12 16 -
WF—FIIMEHRE = 154 ( 66. 7) 81(76.4) 69( 59.0) -
= 66 ( 28.6) 21(19.8) 42( 35.9) -
A 11( 4.8 4(3.8) 6(51 -
BniGE P 32 8 23 -
-BAZEMERE (HH) |ENEEHIR 25 8 16 -
AHEE T ER 38 7 28 -
B TRk 32 8 21 -
A RERFRAR 13 3 10 -
= KRB E%AR 13 1 12 -
BEAT—TIVILERE SEBIEL 220 102 1 -
(EDIFEIE6) B 5.3 5.7 5.0 -
EERE 1.4 0.9 1.7 -
=/IME 0.0 1.0 0.0 -
th R iE 6.0 6.0 6.0 -
=AME 6.0 6.0 6.0 -
k_______ R 11 4 6 -
HEE RS =3 105( 45.5) 47( 44.3) 51( 43.6) -
A" 125( 54.1) 58( 54.7) 66 ( 56.4) -
Al 1(0.4) 1(0.9 0(0.0) -
BOGE AST/ALTES 120 b5 64 -
—FEIR (BEECEIRAD HE 32 17 15 -
BEBFIE 4 3 1 -
&K 9 7 2 -
FRiRE 6 4 2 -
Z D 4 3 1 .
e & 199( 86.1) 92( 86.8) 102( 87.2) -
' 21(9.1) 9( 8.5) 12( 10.3) -
R 11(4.8) 5(4.7) 3(2.6) -
BDHE EE 0 0 0 -
—fER (EHCERTD RERARF 15 4 1 -
fRHEA 19 8 1" -
FriE% 5 5 0 -
Z Dt 3 1 2 -
BEEE BiHREEE 3 206 ( 89.2) 96 ( 90.6) 103( 88.0) -
=} 24( 10.4) 9( 8.5) 14( 12.0) -
K8l 1(0.4) 1(0.9) 0(0.0) -
B0GE BERLL 8 1 7 -
-RATR (EEGERRFA) MR 8 4 4 -
2 IR R 8 4 4 -
FRAE 3 1 2 -
E={or 15 e 11 5 5 -
-BEE (EHRRE) |[RB&EG 0 0 0 -
k=134 0 0 0 -
FEx 2 2 0 -
EHTH 1 1 0 -
Tt 10 2 8 -
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3.9 MEREMR
TR REM: £FEHl

2ERH EHERE | EDgEEREE HO0—2%%
BB HEteE (n=354) (n=195) (n=147) (n=28)
that & fhetE Hite Hite
TB (mg/dL) FEBIEL 332 185 137 76
EHiE 1.47 1.61 1.29 0.53
EEREE 3.56 3.85 3.17 0.22
B/IME 0.10 0.10 0.10 0. 20
Rl 0.50 0.50 0.50 0.50
BXE 22.94 22.94 22.43 1.10
P&k 22 10 10 2
DB (mg/dL) REBIEL 213 111 97 5
FigfE 1.39 1.89 0.87 0. 20
TERE 3.63 4.30 2.70 0.12
B/ME 0.00 0.00 0. 00 0.10
rh 0.10 0.11 0.10 0. 20
BAfE 18. 80 18.80 15. 00 0. 40
& E 141 84 50 23
ASTUUT/D) FEBIEL 346 192 143 27
FEH{E 78.9 80. 3 80. 4 35.3
EEEE 206. 6 198.2 225.3 28.6
B/ME 4.5 4.5 8.0 16.0
gl 38.0 36.0 42.0 27.0
BX{E 2524.0 2368. 0 2524.0 164.0
RBI% 8 3 4 1
ALT (UT/L) S 347 193 143 27
EiE 59.0 58. 4 62.0 38.8
EEEE 67.0 65.8 70. 4 4.4
B/ME 5.0 6.0 5.0 10.0
rh g 38.0 36.0 41.0 26.0
BKIE 515.0 515.0 508. 0 247.0
KAl 7 2 4 1
TP (g/dL) R 339 187 41 25
EigiE 6.5 6.5 6.4 7.1
SHERE 0.9 0.9 0.9 0.9
2/ME 3.2 3.7 3.2 4.9
f g {E 6.6 6.6 6.5 7.0
BAfE 8.9 8.6 8.9 8.5
D& 15 8 6 3
ALB (g/dL) 2 EA 332 184 137 27
EiiE 3.7 3.8 3.7 3.6
EERE 0.7 0.7 0.7 0.6
B/ME 0.1 1.8 1.6 2.2
gl 3.9 3.9 3.8 3.8
BRXIE 53 5.3 5.0 4.7
&k 22 11 10 1
BUN (mg/dL) I 346 192 143 27
FigfE 13.8 14.4 13.3 14.1
ZEEE 10.6 11.5 9.5 58
B/ME 2.0 2.0 2.0 5.0
H R {E 1.0 12.0 10.9 13.0
BXE 101.1 101.1 71.0 29.2
XA 8 3 4 1
Cr (mg/dL) FEBIE 340 187 147 26
FEigfE 0.63 0.67 0. 59 0.94
EERE 1.19 0.90 1.53 0.36
B/ME 0.00 0.00 0.12 0.48
th i 0.38 0. 41 0.33 0. 91
BXE 18.00 8.30 18.00 2.00
R BI%K 14 8 5 2
PT-INR REBIEL 11 62 46 7
FifE 1.48 1.66 1.26 1. 44
BERE 1. 21 1.55 0.44 0.59
BI/ME 0.85 0.85 0.85 0. 91
i E 1.16 1.17 1.17 1.1
BXiE 10.00 10.00 3.27 2.29
KRS 243 133 101 21
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3.9 MKKREMR
FRIT MR EEE . £ fEf

ERER] HEBERRE | EEEES H 00—
EH HEte (n=354) (n=195) (n=147) (n=28)
/MR (75 /mm”) FEBI 5 344 191 141 26
EHfE 24.7 24.0 25.7 22.7
EEE 12.3 12.0 12.8 8.8
B/IME 1.0 1.0 1.3 8.0
rh i 23. 4 22.2 24.2 22.8
BXE 71.3 77.3 73.3 38.5
R 10 4 6 )
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£ ERAEIRE | ERSRRRE | J0—kKk
IEH mEtE (n=63) (n=56) (n=7) (n=23)
et E HatE iHEtE #hat=
TB (mg/dL) TEBIEK 60 b3 1 22
Fi{E 1.08 1.16 0.46 0.55
RERE 2.40 2.54 0.21 0.22
R®/IME 0.10 0.10 0.10 0.20
H R AE 0. 60 0. 60 0.50 0.50
=AfE 17.70 17.70 0.70 1.10
RBIEG 3 3 0 1
DB (mg/dL) e E 23 20 3 4
B 1.10 1.25 0.07 0.20
BRERE 3.12 3.33 0. 06 0.14
&/IME 0.00 0.00 0.00 0.10
HhR{E 0.10 0.20 0.10 0.15
RKIE 14. 40 14. 40 0.10 0.40
RAIE 40 36 4 19
AST (U1/L) e E 63 56 1 23
FfE 47.2 49.8 26.3 35.3
BERE 93.0 98.4 8.3 30.6
B/ME 10.0 10.0 17.0 16.0
PRAE 27.0 27.5 21.0 27.0
=AfE 146.0 746.0 42.0 164.0
AR 0 0 0 0
ALT UI/L) A TE 63 56 1 23
FfE 46.9 49.1 29.6 39.3
BERE 49. 6 52.0 16.2 48.0
=/ME 6.0 6.0 16.0 10.0
H R fE 32.0 33.0 24.0 25.0
=AIE 247.0 241.0 64.0 247.0
R 0 0 0 0
TP (g/dL) FEI Y 57 50 1 21
T¥HE 6.8 6.8 6.8 1.1
BRERE 0.9 0.9 1.3 1.0
B/ME 4.9 4.9 5.5 4.9
P R{E 6.9 6.9 6.2 1.0
RAfE 8.9 8.5 8.9 8.5
RANIE 6 6 0 2
ALB (g/dL) SEBIEN 62 55 1 23
FifE 3.5 3.5 3.8 3.5
SERE 0.8 0.8 0.7 0.6
=/IME 1.9 1.9 2.8 2.2
R R{E 3.6 3.6 3.6 3.8
=AE 5.0 4.9 5.0 4.7
RBE 1 1 0 0
BUN (mg/dL) hTE 63 56 1 23
FE 17.6 17.9 14.9 13.9
BERE 15. 16.0 13.1 6.0
=/IME 2.0 4.4 2.0 5.0
R fE 13.0 13.0 10.0 13.0
&KIE 101.1 101.1 42.0 29.2
RBIE 0 0 0 0
Cr (mg/dL) E 62 55 1 22
F{E 1.09 1.12 0.90 0.98
RERE 1.04 1.09 0.34 0.37
=/IME 0.00 0.00 0.44 0. 60
HR{E 0.89 0.90 0.81 0.95
=AE 8.30 8.30 1.31 2.00
RAE 1 1 0 1
PT-INR FEI %L 28 25 3 6
FIfE 1.21 1.22 1.06 1.29
RERE 0.36 0.38 0.14 0.49
=/ME 0.85 0.85 0.91 0.91
HR{E 1.10 1.1 1.08 1.05
=AME 2.44 2.44 1.19 2.12
REE 35 31 4 17
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2EH HEHREEE | EEERES S 0O0—2%

EH Hete (n=63) (n=56) (n=7) (n=23)

A E st e HitE Tt E
/R (75/mm) FEBI %1 62 55 7 22
FHyE 19.9 19.6 22.5 22.3
EaERE 7.7 7.5 9.3 8.7
B/IME 7.7 7.7 12.0 8.0

th gL 18.3 18.0 20. 4 22.8
SXIE 36.2 34.5 36.2 34.5
&A%k 1 1 0 1
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. e CBEEE | ESEEEREE 5 O0—2iR
EH e (n=49) (n=26) (n=19) (n=5)
HhetE it e HtE G E
TB (mg/dL) FEBIE 46 24 18 ]
FiyfE 1.35 1.36 1.59 0. 45
EERE 3.62 4.38 2.90 0.24
B/ME 0.10 0.19 0.20 0. 30
=P 0. 40 0. 40 0. 60 0.35
BKfE 21.90 21.90 10. 90 0.80
KBNS 3 2 1 1
DB (mg/dL) fEBIEL 31 13 15 1
il 1. 11 1.42 1.05 0. 20
EaERE 3.38 4. 65 2.36
BI/ME 0.00 0.00 0. 00 0.20
th g {E 0.10 0.15 0.10 0.20
BKIE 16.90 16. 90 7.10 0.20
V& 18 13 4 4
AST (UT/D) 2 E 13 25 19 ]
EH{E 56. 4 70.8 40.0 35.8
EERE 81.9 110.5 23.5 14.9
5/ME 8.0 15.0 8.0 27.0
gLl 39.0 39.0 34.0 29.0
BKIiE 573.0 573.0 90.0 58.0
RBI% 1 1 0 1
ALT UT/0) FEBIEL 48 25 19 ]
FigfE 53.9 62. 3 46.7 36.0
EERE 62.8 75.9 48. 4 14.3
B/ME 7.0 10.0 7.0 22.0
th g 36.5 44.0 31.0 35.0
BKfE 363.0 363.0 211.0 52.0
Ve 1 1 0 1
TP (g/dL) 2 E 43 25 19 ]
E1iE 6.6 6.7 6.7 7.0
e 0.9 0.7 0.9 0.3
5/IME 3.4 4.3 5.0 6.7
R {E 6.9 6.8 6.7 7.1
BKfE 8.3 7.7 8.3 7.3
RBI% 1 1 0 1
ALB (g/dL) 1B 35 46 23 19 4
Fig{E 3.8 3.8 3.8 3.8
EEREE 0.7 0.7 0.6 0.2
B/ME 2.0 2.0 2.7 3.5
L fE 3.9 3.8 3.9 3.8
BXIE 5.0 5.0 4.9 4.0
RBIE 3 3 0 1
BUN (mg/dL) REBIEL 48 25 19 ]
FEi{E 12.7 12.4 13.3 15.3
EERE 6.5 5.8 8.0 5.0
R/IME 3.7 4.0 3.7 10.0
rh g 11.6 11.5 12.0 14.5
BKIE 36.0 27.0 36.0 22.1
RIS 1 1 0 1
Cr (mg/dL) FEBIEL 7 25 18 /]
FHE 0.94 0. 61 1.48 0.76
BERE 2.59 0. 64 4.13 0. 20
B/IME 0.17 0.17 0.22 0.48
o 2 {E 0. 48 0. 45 0.49 0.82
BKIE 18.00 3.47 18.00 0.92
KBS 2 1 1 1
PT-INR FEBIEL 17 6 10 T
B 1.29 1.51 1.17 2.29
EEREE 0.38 0. 45 0.29
B/ME 0. 85 1.00 0. 85 2.29
th g B 1.15 1.49 1.13 2.29
BAfE 2.29 2.29 1.86 2.29
RBI%R 32 20 9 4
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2 E SRERE | EnEeEE | s0—fK
EHE HEre (n=49) (n=26) (n=19) (n=5)
_ iHEt e L E #hitE HhitE
/R (75 /mm) i 47 25 18 4
EHIE 27.5 28.3 26.3 24.7
EREE 13.0 13.8 1.7 10.6
B/IME 2.9 2.9 5.1 13.1
g 24.6 24.3 24. 4 23.7
BXiE 57.0 54. 6 57.0 38.5
R BI%K 2 1 1 1
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3.9 MEMEMR
EMEREH: LR

25EH EREIRE | BENEEEEE | Yn—UF
IEH HEtE (n=231) (n=106) (n=117) (n=0)
1B (mg/dL) EP] 216 101 109 =
SEHE 1.64 1.98 1. 31 -
ZERE 3.88 4. 38 3.36 -
®/ME 0.10 0.10 0.10 -
hR{E 0.40 0.40 0.45 -
BXE 22.94 22.94 22. 43 -
KRBl 15 5 8 -
DB (mg/dL) JEBIEL 150 72 76 =
FiE 1.56 2.30 0.89 -
EBERE 3.86 4. 63 2. 88 -
B®/ME 0.00 0.00 0.00 -
thitf 0.10 0.10 0.10
RKXIE 18. 80 18. 80 15.00 -
Vil 81 34 41 -
AST (UI/L) JEBIEL 224 104 113 -
EE 80. 2 95. 4 69. 4 -
EBERE 184. 8 249 4 101. 6 -
F/ME 4.5 4.5 17.0 -
g 40.5 39.0 44.0 -
BXIE 2368.0 2368.0 895.0 -
&k 7 2 4 -
ALT UI/L) EIE 225 105 113 -
EE 60. 2 59.3 63. 1 -
ZEERE 67.3 68.5 67.8 -
B®RIME 5.0 6.0 5.0 -
Qi 39.0 37.0 44.0 -
RXIE 515.0 515.0 508.0 -
& 6 1 4 -
TP (g/dL) L E 223 105 111 -
EigfE 6.3 6.3 6.4 -
E#REE 0.9 0.9 0.9 -
=/IME 3.2 3.7 3.2 -
R E 6.5 6.4 6.5 -
BXIE 8.6 8.6 8.4 -
e 8 1 6 -
ALB (g/dL) SEBIER 213 99 107 -
SEH{E 3.8 3.9 3.7 -
THERE 0.7 0.7 0.7 -
B/IME 0.1 1.8 1.6 -
hR{E 3.9 4.1 3.8 -
BRAE 5.3 5.3 5.0 -
il 18 1 10 -
BUN (mg/dL) JEBIE 224 104 113 -
EH{E 13.1 12.9 13.4 -
THERE 9.5 9.5 9.6
=/IME 2.0 2.0 2.2
i 11.0 11.5 10.8 -
BXE 86.0 86.0 71.0 -
KA i 2 4 -
Cr (mg/dL) SE5IER 220 100 113 -
EH{E 0.44 0.44 0.44 -
ZEERE 0. 60 0.76 0.44 -
H/ME 0.07 0.07 0.12 -
i RE 0.30 0.30 0.31 -
BXIE 6.53 6.53 3.35 -
& 11 6 4
PT-INR JE A5 63 29 32 -
FE{E 1.65 2.10 1.28 -
EERE 1.55 2.17 0.46
S/IME 0.90 0.98 0.90 -
R B 1.19 1.20 1.19
BKXIE 10. 00 10. 00 3.27 -
KBS 168 77 85
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3.9 MBKREMR
R RER: LR
2 FE 5 SHERE | EalEREE | s0—ofFk
EE #EtE (n=231) (n=106) (n=117) (n=0)
Hite HhEtE HhEtE e
/MR (5/mn”) - EI % 224 104 112 -
EiyiE 25.7 25. 6 25.9 -
EERE 13.0 12.9 13.3 -
=/ME 1.0 1.0 1.3 -
il 24.3 24. 4 24.3 -
= K{E 77.3 771.3 73.3 -
SBIB 7 2 5 -




